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summer low-pass filter
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The circuit shown in the figure is an illustration of the functioning of a filter in the time
domain. The corresponding frequency-domain description of the filter circuit can be found in

low_pass_filter_1.sqproj.
Exercise Set

1. Simulate the filter circuit in the frequency domain and note the cut-off frequency (see

low_pass_filter_1.sqproj).

2. How is V1 related to V,, V3, V.7 Verify with simulation by plotting V,, Vj, V., and

Vw1 versus time.

3. What is Voua(t) expected to be? Verify with simulation by plotting Voue and Voo
versus time. Compare the filter ouput Vo (t) with the input voltages for the summer

circuit V,(t), Vi(t), Vo(t). Explain your observations.
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